TRC efficency, Bi+Bi. {5, = 9.2 GeV, pim, 0-10%

TPC effcency. BisBifiy, = 9.2 GeV, pim, 1020%

TPC effcency, Bi+Bi &y, = 9.2 GeV, pim, 20-305%

TPC effcency, Bi+B, (&, = 9.2 GeV, pim, 30-40%

TRC effciency, 813, = 9.2 GeV, pim, 40-80%

PG effcency.Bi+E. foy, =9.2 GeV. pip, 0-10%

TRC efficency, Bi+Bi, {5, = 9.2 GeV. pip, 10-20%

TRC effcency, Bi+Bi, {5, = 9.2 GV, km, 0-10%

TRC efficiency, Bi+Bi, {5, = 9.2 GeV, km, 20-30%

TPC offciency, BB o = 0.2 Gov, km, 4040%

TPC effciency, BivBi, {5y, = 9.2 GeV. kp, 0-10%

TRC efficency, Bi+Bl Yo, = 9.2 GeV, kp, 10-20%

TPC eficency, Bi+Bi g = 9.2 GeV, kp, 2030%

TRC efficiency, Bi+Bi Yoy,

TRC efficency, BisBi Yy,

TRC efficiency, Bi+Bi.|5y,

.2 GeV. p, 0-10%

TPC efficiency, Bi+Bi.\y, = 9.2 GeV., d, 0-10%

TRC effcency, Bi+Bi. {5

TRC efficiency, Bi+Bi, {5, = 9.2 GeV, d, 20-30%.

y

y

TRC efficiency, Bi+Bi, {5y, = 9.2 GeV, 1, 0-10%

TP effiiency, Bi+Bi 5, = 5.2 GoV. 1, 20-30%

TRC efcency, Bi+Bi 5, = 9.2 GeV, Hed, 0-10%

TPC effcency, BivBi, {5, = 9.2 GeV, Hed, 10-205%

TPC effcency, Bi+Bi, 5, = 9.2 GeV, He3, 20.30%

TPC effciency, B+, {5, = 9.2 GeV. Hed, 0-10%
TPC effiency, Bi+B1, 5, = 9.2 GeV, Hed, 20-30%

TPC effciency, Bi+8i 5y,

1
1
] 1
12
y




TOF effcency. Bi+B1. {5, = 9.2 GeV. pim, 0-10% TOF effiiency, B+, = 9.2 GeV, pip, 0-10% TOF effciency, Bi+B1.{5,, =9.2 GeV, km, 0-10% ToF efficiency, Bi+Bi.Sy, = 9.2 GeV, kp, 0-10% TOF efficiency, Bi+Bi.|Fyg = 9.2 GeV. p, 0-10% TOF efficiency, Bi+Bi.|, = 9.2 GeV. d, 0-10% ToF efficiency, Bi+BiS,,, = 9.2 GeV, , 0-10% TOF effcency. BitBi.fo, = 9.2 GeV, He3, 0-10% TOF effciency. BitBL. {5, = 9.2 GeV. Hed, 0-10%

i

TOF effciency, Bi+Bi,fig = 9.2 GeV. km, 10-20% TOF effciency, Bi+B1{5,, = 9.2 GeV. kp, 10-20% ToF effcency, BivEi fo, = 9.2 GeV, Hed, 10-20%
n

TOF efficiency, Bi+Bi, 5, = 9.2 GeV, km, 20-30% ToF efficiency, Bi+Bi 5, = 9.2 GeV, kp, 20-30% ToF effciency, BivBi 5y, = 9.2 GeV, d, 20-30% “ToF efficiency, B+, = 9.2 GeV, 1, 20-30%. ToF effcency, Bi+Bi (5, = 9.2 GeV, Hed, 20.305 ToF effcency, Bi+Bi {5y, = 9.2 GeV, Hed, 20-30%

ToF effciency, Bi+Bi, Sy, = 9.2 GV, km, 30-40% ToF efficency, B+ (B,

ToF effciency, Bi+Bi, 5, = 9.2 GeV, km, 40-80% “ToF effiiency, Bi+Bi 5, = 9.2 GeV, kp, 40-80%




PID effciency, Bi+B, {5, = 9.2 GeV, pim, 0-10%.

PID effciency, BB {5 = 9.2 GeV, pip, 0-10%

PID efficency, Bi+Bi, (S, = 9.2 GeV. pip, 10-20%

PID efficiency, Bi+Bi, 5., = 9.2 GeV, pip, 20-30%

PID efficiency, BisBi Sy, = 9.2 GeV, km, 0-10%

PID efficency, Bi+Bi, (S, = 9.2 GeV. km, 10-20%

PID efficiency, Bi+Bi, 5, = 9.2 GeV, km, 20-30%

PID efficency, Bi+Bi, (S, = 9.2 GeV, km, 30-40%

PID effciency, B8 (5, = 9.2 GeV, km, 40-80%

PID eficiency, Bi+Bi. 5, = 9.2 GeV, kp, 0-10%

PID effcency, Bi+B, {5, = 9.2 GeV, kp, 10-20%

PID efficoncy, 81815, = 9.2 GoV, K, 20-30%

PID efficiency, Bi+Bi,|5,,, = 9.2 GeV, p, 0-10%

PID eficiency, Bi+Bi 5y, = 9.2 GeV, d, 0-10%

PID efficiency, Bi+Bi, {5y, = 9.2 GeV. d, 10-20%

PID efficiency, Bi+Bi, {5y, = 9.2 GeV, d, 20-30%

PID effciency, Bi+Bi, {5y, = 9.2 GeV, d, 30-40%

PID efficiency, Bi+Bi {5, = 9.2 GeV, d, 40-80%

PID efficiency, Bi+Bi G, = 9.2 GeV, 1, 0-10%

PID effcency, BisBi, {5y

PID effciency, Bi+Bi.{S g,

PID effciency, Bi+Bi. g,

PID effcioncy. 1481, = .2 GV, Hed, 40-80%

PID effcency, Bi+B, 5, = 9.2 GeV, Hed, 0-10%

(i}

PID effciency. B1+Bi{5y,

b

PID effciency, B35,

PID effciency, B+ 5,

2Gov. Hed, 40.80%




DCA eficiency, BitBi 5, = 9.2 GeV, pim, 0-10%

'DCA effciency, Br+B1.5, = 9.2 GeV, pim, 20-30%

'DCA effciency, Br+B1.5, = 9.2 GeV, pim, 30-40%

'DCA efficiency, B1+B1, = 9.2 GeV, pim, 40.80%

'DCA efficiency, Bi+Bi. 5, = 9.2 GeV. pip, 0-10%

'DCA efficiency, Bi+Bl. {5y = 9.2 GeV, pip, 20-30%

'DCA efficiency, Bi+Bl {5y = 9.2 GeV, pip, 30-40%

'DCA efficiency, Bi+B1.{5, = 9.2 GeV. pip, 40-80%

DCA efcency, Bi+Bi {5, = 9.2 GeV. km, 0-10%

'DCA efficiency, Bi+BI{Gy, = 9.2 GeV, km, 20-30%.

- 1 0 1

2
y

DCA efcency, Bi+Bi 5, = 9.2 GeV, kp, 0-10%

-3 0 1 2
y

DCA efficiency, Bi+BVE,, = 9.2 GeV, kp, 1020%

-‘
- 0 12
y

DCA effciency, Bi+Bi sy, = 9.2 GeV, kp, 20-30%

-] 0 12
y

DCA ofcieny,BBi g = 0.2 Gov, 9, 2040%

-.
-1 0 12
y

DCA effciency, Bi+Bi 5, = 9.2 GeV. kp, 40-80%

oo
-
3
- '
o
10 1 2
y

DCA effciency, Bi+Bi 5, = 9.2 GeV, p, 0-10%

DCA effciency, Bi+BiSy = 9.2 GeV, p, 20-30%

DCA offiency, BivBi iy, = 9.2 GeV, p, 20-40%

DCA effciency, BB, = 9.2 GeV, p, 4080%

DCA effiency, Bi+Bi.{&, = 9.2 GeV. d, 0-10%

DCA efficiency, Bi+Bi,, = 9.2 GeV, d, 20-30%

DCA effciency, Bi+Bi,, = 9.2 GeV, d, 40-80%

DCA effciency, B+, 5 = 9.2 GeV. £, 0-10%

'DCA effciency, BiBi {5, = 9.2 GeV, 1, 10-20%

'DCA eficlency, Bi*Bif5,, = 9.2 GeV, , 20-30%

'DCA effciency, BirBi oy, = 9.2 GV, 1, 30-40%

'DCA efficency, Bi+Bi B, = 9.2 GEV, 1, 40-80%

DCA effcency, Bi+Bi {5, = 9.2 GeV, He3, 0-10%

DCA effiiency, BivBi Vi = 9.2 GeV, Hed, 10-20%

DA effciency, BB {5, = 9.2 GeV, Hed, 20.30%

DCA afcionc, 6143 i, = 5.2 G, Hed, 04058

DCA effiiency, Bi+B {5y, = 9.2 GeV, Hed, 40-80%

DCA efficiency, Bi+Bi.fFrg, = 9.2 GeV, Hed, 0-10%




PID contaminaton, Bi48i5 = 9.2 GeV., pim, 0-10%

PID contaminaton, i+8i 5, = 9:2 GeV. pp, 0-10%

PID contarminaton, Bi48i 5y, = 9:2 GeV. km, 0-10%

PID contaminaton, BivBi5,,= 9.2 GeV, km, 1020%

PID contamination, BivEiE = 9.2 GeV, km, 20-30%

PID contaminaton, Bi+8iE = 9.2 GeV, km, 0-40%

PID contamination, BBy, = 9.2 GeV. kp, 0-10%.

PID contamination, BisBiff, =32 GeV. p 0-10%

PID contamination, BisBiys,, =82 GeV. 0, 0-10%

PID contamination, B1+Bi,, =9.2 GeV. d, 10-20%

PID contamination, Bi+Biys,, = 9.2 GeV, d, 20-30%

PID conaminaon, 81315, = 5.2 G

PID contaminaiion, Bi+Bi. {5, = 9.2 GeV, 1, 0-10%

PID conamination, Bi+BiY, = 9.2 GeV, £, 20-30%

PID conaminaton, Bi+B1Y,, = 9.2 GeV, £, 30-40%

PID contamination, Bi+Bi,, = 9.2 GeV, , 40.80%

PID contaminaton, 1485,y = .2 GeV, Hes, 0-10%
1
Ir 'i
PID contaminaton, BivBifey, = 9.2 GeV, Hes, 10-20%.
PID contarinaton, BivBifEy, = 9.2 GeV, Hes, 20-30%.

PID conamination, BvBifs,, = 9.2 GeV, He, 30-40%.

PID conamination, BB, = 9.2 GeV, Ho, 40.80%.

PID contaminaton, 1485y = .2 GeV, He4, 0-10%

- o 1 2
Yy

PID contamination, Bi+Bi (5, = 9.2 GeV, Hed, 10.20%

2 - o 1 2
Yy

PID conaminaion, 51 5, = 2 GeV, Hed, 20.30%

2 - o 1 2
Yy

PID conamination, Bi 5, = 5.2 GeV, Hed, 30-40%

2 - o 1 2
Yy

PID contaminaton, Bi+B1[5, = 9.2 GeV, Hed, 40.80%

2 - o 1 2
Yy




P, corecton, BB 5, = 8.2 GeV, i cenaly 0105 b, correcton, BitBi 5, = 9.2 GeV. i, centaity 0-10% b, correcton, BisBi R = 9:2 GeV, km,centalty 0-10% p, cortecton,Bi+B1 5, = 5.2 GeV, kp,centaly 0-10% b, cortecton, Bi+Bi = 9.2 GeV. p,centaliy 0-10% b, correcion, Bi+B1 = 9.2 GeV, d, centay 0-10% P, correction, Bi4Bi 5, = 9.2 GeV. 1, cenvaty 0-10% b, corecton, BBl 5, = 8.2 GeY, He3, convaly 0-10%. , comecton, 815, = 8.2 GeV, Hed, cenaly 0-10%.

b, conecion, 8481 .2 GV, pip conraty 10-20%

ot

P, -, .Cevie

o
3
-,

b, corecion, B8 i,

 contcton, B+ iy, = 9.2 GaV. . conally AD80%

“p,..Gevic
Lo o

P




55,1 <05, BB &, =92 Gev, pm cenvaly 0-10% 51,105, BisBi|, =92 GeV, i, cenalty 0-10%

15 2 25 335
p,. Gevic

2 25 3 35
p,, Gevic

2 25 2 25

3 35 3 35
b, Gevic b, Gevic

2 25 3 35 . 5 3 35
p,. Gevic b, Gevic

5.1 <05, BieBi i, =02 GeV, km cenwal 0-10%

0 05 1 15 2 25 3 35
P, Gevic

55, 1 <05, BivBi g = 0.2 GaV, km. cerraty 20.30%

25 3 35
b, Gevic

55, 1 <05, BisBi i = 0.2 GoV, km, cenraty 40-60%

5. 11 <05, BvBi = 92 GeY, kp,convalty 0-10%

55, <05, BB, = 0.2 GeV. k. conaty 2030%

89, 1<05. BisBLE,-

0 05 1 15 2 25

35,1 <05, BB fo, =02 GaV, p, convalty 10200

85,1 <05, B {5, =92 GeV, p, convabty 304056

85,1 <05, BB {5, =92 Gev, p, convabty 40505

9,105, Bi+Bi By, = 9.2 GV, d, contally 0-10%

—~ =

05 1 15 2 25 apr%"éwc

Bp,.1<05, i fgy = 9.2 GeV, d. cenraty 1020%

=0

335
p,. Gevic

Bp,.1<05. i oy, = 9.2 GeV, d. cenraty 2030%

5,11 <05, BiBi &y, =92 Gav. ¢ cenvabty 3040

e—

55, 1y1<05, BB 5, =92 Gov, 0, convabty 4080%

05 1 15 2 25 3 35
p,. Gevic

55, b1 <05, BeBL = 52 GeV, L convally 0-10%

05 1 15 2 25 aprvaésewc

57, 1<05, BisBi By, = 9.2 Gov. L conralty 10-20%

57, 1<05, BeBi By, = 8.2 GV,  cnialty 20-30%

87, <05, BitBiig, = 8.2 eV, L. centalty 30400

T

7,1 <05, BieBiig, = 8.2 eV, L cenralty 40008

55, <05, BeBi\E,, = .2 Gov, Hes,convalty 010

15 2 25 ap'.aéivl\:

55,1 <05, BB 5, = .2 Gov. Hed, conalty 10:20%

005 1 15 2 25 3 35
b, Gevic

57,1 <05, BB, = 9.2 Ga. Hed, sty 20:30%

0 05 1 15 2 25 3 35
b, Gevic

57,1 <05, BB, = 9.2 Ga. Hed, sty 0-40%

0 05 1 15 2 25 3 35
p,. Gevic

55, 11<05 B4BL {5, = 92 Gov, Hod,cenvalty 0-10%

335
p,. Gevic

5, 1 <05, BioBiig, = 0.2 GeV. Hed cnaty 10:20%.

sp,, Bevie

5, <05, BisBi i, = 0.2 GoV. et canaty 20-30%.

3 35
b, Gevic

55, <05, BisBi i, 0.2 GoV. Hed, cantaty 20-40%.

3 35
p,. Gevic

57, b1 <05, BBl g, = 9:2 GV, Hod,canralty 4050%

2 25 3 35
p, Gevic




55,1 <05, BB &, =92 Gev, pm cenvaly 0-10% 51,105, BisBi|, =92 GeV, i, cenalty 0-10% 5, 1 <05, BisBiNE,, =92 GeV, km cenalty 0-10% 5, 1 <05, BvBi 5, = 92 GeV, kp,contaty 0-10%

)

15 2 25 ap'laégwc

NPT T=Srrrmp—r—
.g.%

55,11 <05, BB, 0.2 oV, i, convally 2030%

—

1 15 2 25 335 15 2 25 3 35
p,. Gevic b, Gevic

89, 1<05. BisBLE,-

05 1 15 2 25 p 35,1

35,1 <05, BB fo, =02 GaV, p, convalty 10200

55,1 <05, B f, =92 GeV. p. conralty 30-40%

w’*’.

p Hovic

50, 11<05, BisBi 5, =52 eV, d, contally 0-10%

15-
115 2 25 p 350

Bp,.1<05, i fgy = 9.2 GeV, d. cenraty 1020%

15-

p Bovic

Bp,.1<05. i oy, = 9.2 GeV, d. cenraty 2030%

85,.1y1<05, 814815, =92 Gov, 0, convalty 304056

15-

59,1105, BisBL {5y, =92 Gov, 4. convably A080%,

05 1 15 2 25
p Hevic

5, 1 <05, BsBL {5, = 92 GeV, L. convalty 0-10%

15 2 25 aprvaéewc

15 2

2253

7,1 <05, BieBiig, = 8.2 eV, L cenralty 40008

115 2 25 3
Pr

55, <05, BeBi\E,, = .2 Gov, Hes,convalty 010

15 2 25 ap EEW

55, <05, B

2 2
° % Kve

57,1 <05, BB, = 9.2 Ga. Hed, sty 20:30%

0, b1<05, BB,

15 2 25 335
p,. Gevic

55, 11<05 B4BL {5, = 92 Gov, Hod,cenvalty 0-10%

n-

15 2 25 sp EEN

5, <05, BieBi|f, = 0.2 GeV,Hod, contalty 10:20%.

D

2 2
° % Kve

5, <05, BieBiy,= 0.2 GoV.Hod, conalty 20.30%.

n-

5, <05, BieBiy, = 0.2 GV, Hod, conalty 30-40%.

L:l-

25 3 35
p,. Gevic

50,1 <05, BB, = 52 Gov, Hod,canvalty 40.80%

R-

15 2 25 3 35
b, Gevic




Uncorrected, Bi+Bi,

o

.2 GeV, pim, 0-10%

2 Gev, pim, 20-30%

Uncortected, Bi+Bi, S, = 9.2 GeV, pip, 0-10%

Uncorrected, Bi+Bi, (5, = 9.2 GeV, pip, 20-30%

Uncorrected, BivBi (5, = 9.2 GeV, i, 40-60%

Uncortected, Bi+B, {5, = 92 GeV, km, 0-10%

Unconected, Bi+Bi, 15, = 9.2 GeV, km, 20.30%

Uncortected, Bi+Bi, 15, = 9.2 GeV, km, 30-40%

Uncorrected, Bi+Bi, {5, =9.2 GeV, km, 40-80%

Uncortected, Bi+Bi, {5y

Uncortected, Bi+Bi, {5, = 9.2 GeV, p, 0-10%

Uncorrected. Bi+Bi, {5y

Uncorected, Bi+B, 5, = 9.2 GeV, d, 10-20%

Uncorrected, Bi+Bi,foy, = 9.2 GeV, d, 20-30%

Uncorrected, BvBi Vo, = 5.2 GeV, d, 30-40%

Uncorrected, Bi+Bi, o, = 9.2 GeV, d, 40-80%

Uncorrected, Bi+B. {5, = 9.2 GeV, 1, 0-10%

Uncorrected, BisBi, (5, = 9.2 GeV, 1, 20-30%

Uncorected, BisBi (5., = 8.2 GeV, 1, 30-40%

y

Uncortected, Bi+Bi, {5, = 9.2 GeV, He3, 0-10%
Uncorrected. Bi+Bl {6, = 9.2 GeV, Hes, 10.20%
Uncorected, Bi+Bl.{G, = 9.2 GeV, Hes, 20.30%
Uncorrected, Bi+Bl {6, = 9.2 GeV, He3, 30.40%

Uncortected, Bi+Bi,{Ey, = 9.2 GV, Hed, 40-90%

e

Uncorrected, Bi+81 Fp
Uncorrected, BisBi (g, = 9.2 GeV, Hed, 10.20%
Uncorrected, BivBl (g, = 9.2 GeV, Hed, 20.30%

Uncorrected, BI+B, s, = 92 GeV, Hed, 30400

Uncorrected, Bi+B, 5., = 9.2 GeV, Hed, 40803




Corrected, Bi+B, s, = 9.2 GeV, pim, 0-10% Cortected, Bi+Bi, {5,,, = 9.2 GeV, pip, 0-10% Corrected, Bi+Bi, |5,,, = 9.2 GeV, km, 0-10% Corrected, Bi+Bi, |5,,, = 9.2 GeV, kp, 0-10% Corrected, Bi+Bi, |5, = 9.2 GeV, p, 0-10% Corrected, Bi+Bi, |5, = 9.2 GeV, d, 0-10% Corrected, Bi+Bi, |y, = 9- 11, 0- Corrected, Bi+Bi {s,,, = 9.2 GeV, He3, 0-10% Corrected, Bi+Bi,|s,,, = 9.2 GeV, Hed, 0-10%

-2 0

12
y

‘Cortected, B+, {5, = 9.2 GeV, pim, 10-20% Cortected, BivEl, (5, = 9.2 GeV, km, 10-20% Cortected, B+, (g, = 5.2 GeV, kp, 10-20% ‘Cortected, Bi+Bi, S, = 9.2 GV, p, 10-20% ‘Corrected, BitBi, S, = 9.2 GeV, t, 10-20% Cortected, BivBi, (5, = 9.2 GeV, He3, 10-20% Cortected, Bi+Bi. {5, = 9.2 GV, Hed, 10-20%

L i | N

‘Corrected, Bi+Bi, 5y, = 9.2 GeV, pim, 20-30% Cottected, B+, g, = 9.2 GeV, kp, 20-30% .2 Gev, p, 2030% ‘Cortected, BitBi,f5,y, = 9.2 GV, £, 20-30% Correcied, BivBi. [y Cortected, Bi+Bi, s, = 9.2 GV, Hed, 20-30%

-2 0 1 2
y

‘Corrected, Bi+Bi, {5y, = 9.2 GeV, pim, 30-40% X Cotrected, Bi+Bi, g, = 9.2 GeV, kp, 30-40% ‘Corrected, B+, 5, = 9.2 GeV, p, 30-40% B ¥ » B Corrected, B+, {5, Corrected, B+, fo, = 9.2 GeV, Hed, 30-40%

-2 0 12
y

‘Cortected, Bi+Bi, |5, = 9.2 GeV, pim, 40-80% ‘Corrected, Bi+Bi, S, = 9.2 GeV, kp, 40-80% Cortected, Bi+Bi, {5, = 9.2 GeV, p, 40-80% 2 2 Corrected, Bi+Bi, (5, = 9.2 GeV, He3, 40-80% Corrected, Bi+Bi, (5, = 9.2 GeV, Hed, 40-80%

-2 0 12
y




